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Guess Paper – 2010

Class – XII

Subject –Mathematics
 SECTION-A           
1. What is the principal value of 
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4. Find the value of a and b such that the function f defined by

          f(x) = 
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5. Find the approximate change in the volume V of cube of side x mts caused by increasing

    the side by 2 %.
6. Find the maximum and minimum values, if any of  
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7. For the curve y = 3x² + 4x, find the slope of the tangent to the curve at the point where

    it cuts the x axis 
8. Determine the k so that the function f(x) =
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 EMBED Equation.3  [image: image7.wmf]ï
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, is continuous at x=0.
                                                           SECTION-B                               6x4 = 24 marks
9. Show that the value relation R in set of all integers I defined as R = {(a, b) : a+ b =

     even integer} is an equivalence relation.


10.
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       Prove that:
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11.If 
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  then prove that  
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12.Show that  
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13. Verify Lagrange’s mean value theorem for the function f(x) = x + 
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 in [1,3].
      14. A water tank has the shape of an inverted right circular cone with its axis vertical and vertex
            lower most. Its semi vertical angle is 
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. Water  is poured into it at a  constant  rate 
           of 5 cubic meter per minute. Find the rate at which the level of the water is rising at the
            instant when   the depth of water in the tank is 10m.
                                                           SECTION-C                               3x6 = 18 marks
15. Show that the volume of the greatest cylinder which can be inscribed in a cone of height hand 
     semi-vertical angle α is 4/27 πh3 tan2 α. OR  
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16. Determine the product  
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  and use it to solve the system of 
        equations    x – y + z = 4, x – 2y – 2z = 9 and   2x + y + 3z = 1.

17. A manufacturer makes two type of toys A and B. Three machines are needed for this purpose and the time (in minutes) required for each toy on the machine is given below.

	Types of Toys
	Machines

	
	I
	II
	III

	A
	12
	18
	6

	B
	6
	0
	9


Each machine is available for a maximum of 6 hours per day. If the profit on each toy of type A is Rs. 7.50 and that on each toy of type B is Rs. 5, find how many of each  type  should be manufactured in a day to get maximum profit  
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